
問題１７

次の不等式を解け、ただし (0 5 θ < 2π)とする。

(1) 2 cos2 θ +
√

3 sinθ − 2 < 0 (2) tan2 θ + (1− √3) tanθ − √3 < 0

【解説】
問題１６と同じように解いていきます。

【解答】

(1)

2 cos2 θ +
√

3 sinθ − 2 < 0

2(1− sin2 θ) +
√

3 sinθ − 2 < 0 J cos2 θ = 1− sin2 θを代入

2− 2 sin2 θ +
√

3 sinθ − 2 < 0

2 sin2 θ −
√

3 sinθ > 0

sinθ(2 sinθ −
√

3) > 0

∴ sinθ < 0または
√

3
2

< sinθ

( i ) sinθ < 0のとき π < θ < 2π

( ii ) sinθ >

√
3

2
のとき π

3
< θ < 2

3
π

以上より、 π
3
< θ < 2

3
π, π < θ < 2π

(2)

tan2 θ + (1−
√

3) tanθ −
√

3 < 0

(tanθ + 1)(tanθ −
√

3) < 0

−1 < tanθ <
√

3
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グラフより 0 5 θ < π
3
, 3

4
π < θ < 4

3
π, 7

4
π < θ < 2π
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